5t 122340 e A o Yok b }

IR R

R S

L M%t;:w

TR 2P L

MIR T EOF i 32 .
(:‘)7"\/’;}-/%{ {FL ’3—‘;‘&‘; %{%)ba Z‘:%,”E}?’(’,-t‘hpéép ,_};\ ’é‘%iplfg ’]%%‘LA\O

G 2 3 i 1 2 sv—”ri;jé_e' ;/m;;é;a b

‘gFme" E\‘ﬂiﬂ’z}\]")@éwj\@@?f%go

Y

5 8 - -3 (Quarter car model) e b B B R
$~?%~%%$)mﬁﬁfr:‘é‘_ém BEEOEE A m,
ﬁ%z%%‘ %xiﬁ‘*%%%ﬁﬂﬁﬁ%'l“fﬁél T RE WY GRS A
,"pj‘if&%;m%‘i@uj 24 (r,) PlEdmE R (V) 2 B ek e 250 o
(20 » )

TR A

F4e T 7 2 BORlehi# S5 #kc (Transfer function) = (20 4 )

U Y

® G @ G PO

G,

= F RS R R (G(s)=1/s") dpdl > P A3 7 0 PID #1240 F
(G (s)=K(s+2z)(s+2,)/s) #2 fE% 1 > F7 o 3B Nerg & K
282, FHFF I G RF (20 4 )



fj %’i 22340

N 'j;—?’r Routh-Hurwitz test /4 =7 7| % st > 258 % 5 &2 7 ¢
$°+3s"+5°+35°+25+1=0 - (20 A )

~ Bl 5 - i senr 7§ (Nicholsplot) 7 5 digt ks 0 i 4 gdp -
( Phase margm)

T A RBE KR BAp w4 % E (Phase-lead compensator )
1+aTs Y .
Gu(8) == R P A 0 R BT P45 4 &

S
( Phase Iead) hp ik T oA R 0 X Mgk hdp & B YA K G
1.21 rad/sec & - (20 %4 )



